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QUESTION 1

Which statement is true about a signal trigger? 

A. It is executed repeatedly based on a specified frequency. 

B. It can only be executed if the system is running under process control. 

C. It can only be executed before or after an event is updated in the ObjectServer. 

D. It responds to changes detected within the IBM Tivoli Netcool/OMNIbus processes 

Correct Answer: D 

 

 

QUESTION 2

A company has a virtual pair of ObjectServers with the primary located in New York (ny.fqdn.com 4100), the backup in
Sacramento (sac.fqdn.com 4100), and the WebGUI is in San Francisco (sf.fqdn.com 16311). The administrator has
these requirements: 

-A custom WebGUI view that is accessible by all users will be created to display the events 

- A custom filter will show events that happened within the last 30 minutes where the hostnames start with an alphabetic
character and the severity of the data is higher than minor 

-A map will provide a geographic representation of the cities, will open an Active Event List, and embed in a SmartPage 

Which WebGUI role should be assigned to the users so they can create filters? 

A. ncw_user 

B. netcool_ro 

C. nco_admin 

D. ncw_dashboard 

Correct Answer: C 

 

 

QUESTION 3

Which three statements are true regarding a WebGUI load balancing cluster? (Choose three.) 

A. An IBM DB2 database is required. 

B. If a node within a cluster fails, new user sessions are directed to other active nodes. 
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C. WebGUI load balancing can be configured as an option during WebGUI installation if a database is available. 

D. If a node in the cluster fails, active sessions on that node are automatically transferred to other active nodes. 

E. If a node in the cluster fails, users who are in session with that node must log back in to access the WebGUI. 

F. If a node in the cluster fails, users who are in session with that node are automatically directed to other active nodes 

Correct Answer: ABE 

 

 

QUESTION 4

Which action informs an end user when an event flood situation is detected? 

A. create a new severity level for the event flood situation 

B. configure the probe rules file so that deduplication of events does not occur 

C. configure a probe to report back the situation in the summary field for an event raised when the event flood is
detected 

D. implement Accelerated Event Notification to ensure that the detected event flood situation is displayed to operators
asquickly as possible 

Correct Answer: D 

 

 

QUESTION 5

What are the steps to clone an ObjectServer? 

A. It is not possible to exactly clone an ObjectServer. 

B. Export the ObjectServer configuration into SQL files with nco_conf pack.Run the SQL files using nco_sqlto createthe
new ObjectServer. 

C. Export the ObjectServer configuration into SQL files with nco_os report. Use the SQL files to create a
newObjectServer with nco_dbinit. 

D. Export the ObjectServer configuration into SQL files with nco_conf pack. Use the SQL files to create a
newObjectServer with nco_dbinit. 

Correct Answer: C 

000-657 PDF Dumps 000-657 Study Guide 000-657 Braindumps

000-657 PDF Dumps | 000-657 Study Guide | 000-657 Braindumps                                3 / 4

https://www.lead4pass.com/000-657.html
https://www.lead4pass.com/000-657.html
https://www.lead4pass.com/000-657.html
https://www.lead4pass.com/000-657.html
https://www.lead4pass.com/000-657.html
https://www.lead4pass.com/000-657.html


https://www.lead4pass.com/000-657.html
2021 Latest lead4pass 000-657 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.lead4pass.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © lead4pass, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

000-657 PDF Dumps | 000-657 Study Guide | 000-657 Braindumps                                4 / 4

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.lead4pass.com/000-657.html
https://www.lead4pass.com/000-657.html
https://www.lead4pass.com/000-657.html

